1 John 3:12
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- is the absolute negative OU, meaning “not” followed by the comparative conjunction KATHWS, meaning “as” with the indeclinable proper noun KAIN, transliterated “Cain” and referring to the firstborn of Adam and Eve, the brother of Abel.  Then we have the preposition EK plus the ablative of source from the masculine singular anaphoric use of the article (“The anaphoric article is the article denoting previous reference.  The first mention of the substantive is usually anarthrous because it is merely being introduced.  But subsequent mentions of it use the article, for the article is now pointing back to the substantive previously mentioned [In this case DIABOLOS of verse 10].  The anaphoric article has, by nature, then, a pointing force to it, reminding the reader of who or what was mentioned previously. It is the most common use of the article and the easiest usage to identify.”
), which is translated “that” with the adjective PONĒROS, used as a substantive, which means “evil one” and refers to the devil.  It is translated “from that evil one.”  This is followed by the third person singular imperfect active indicative from the verb EIMI, meaning “was.”

The imperfect tense is a descriptive imperfect, which describes what was actually taking place at some point in the past.

The active voice indicates that Cain produced the action of being from the source of the evil one, the devil.


The indicative mood is declarative for a simple statement of fact.
Then we have the use of the conjunction KAI to denote a consequence or result.  It can be translated “and consequently or and so.”  This is followed by the third person singular aorist active indicative from the verb SPHAZW, which means “to slaughter, to butcher, or to cut the throat of an animal or person.”

The aorist tense is a historical aorist, which gathers into a whole the action of Cain with regard to the murder of his brother Abel and regards it as a past, historical fact.


The active voice indicates that Cain produced the action.


The indicative mood is declarative for simple statement of fact.

This is followed by the accusative direct object from the masculine singular article and noun ADELPHOS with the possessive genitive from the third masculine singular intensive pronoun AUTOS, which is used as a personal pronoun, meaning “his brother” and referring to Abel.  Literally this phrase says “not as Cain was from that evil one, and consequently slaughtered his brother.”  There appears to be an ellipsis of the relative pronoun HOS, meaning “[who]” or at least we must at it in English to create proper English grammar.
“not as Cain [who] was from that evil one, and consequently slaughtered his brother.”
- is the continuative use of the conjunction KAI, meaning “And” followed by the “accusative of the noun CHARIS=grace, used as a preposition with the ablative of cause, almost always after the word it governs; only in 1 Jn 3:12 before it, meaning: for the sake of, on behalf of, on account of, indicating the reason; for what reason (=why) did he kill him? 1 Jn 3:12.”
  With this we have the ablative neuter singular from the interrogative pronoun, used as a substantive, meaning “what.”  Literally this says “because of what” or “for what reason,” which can be reduced in English to simply “why.”  Then we have the third person singular aorist active indicative from the verb SPHAZW, which means “to slaughter, to butcher, or to cut the throat of an animal or person.”

The aorist tense is a historical aorist, which gathers into a whole the action of Cain with regard to the murder of his brother Abel and regards it as a past, historical fact.


The active voice indicates that Cain produced the action.


The indicative mood is declarative for simple statement of fact.
This is followed by the accusative direct object from the third person masculine singular intensive pronoun AUTOS, used as a personal pronoun, meaning “him” and referring to Abel, the brother of Cain.
“And why did he slaughter him?”
- is the causal use of the conjunction HOTI, which means “Because.”  Then we have the nominative subject from the neuter plural article and noun ERGON with the possessive genitive third masculine singular intensive pronoun AUTOS, used as a personal pronoun, meaning “his deeds, works, actions, or accomplishments.”  This is followed by the predicate nominative from the neuter plural adjective PONĒROS, which means “wicked, evil, bad, base, worthless, vicious, or degenerate.”
  Then we have the third person singular imperfect active indicative from the verb EIMI, which means “kept on being.”  The singular verb is commonly used with the neuter plural subject in Koine Greek.

The imperfect tense is a progressive imperfect, which is commonly found as an idiom in Koine Greek after the use of a causal HOTI.  It is translated “kept on being” indicating the actions of Cain continued to be evil before he murdered his brother and after he murdered his brother.

The active voice indicates that Cain kept on producing the action in the past of producing evil deeds, accomplishments, or works.


The indicative mood is declarative for a dogmatic statement of fact.

Then we have the postpositive, adversative use of the conjunction DE, meaning “but” and setting up a contrast between the deeds or works of Cain and those of his brother Abel.  This is followed by the nominative subject from the neuter plural article, used as a demonstrative pronoun referring back to the word ERGON, meaning “those [deeds].”  With this we have the possessive genitive from the masculine singular article and noun ADELPHOS with the possessive genitive from the third person masculine singular intensive pronoun AUTOS, used as a personal pronoun, translated “of his brother.”  Literally, this says “the things of his brother” and refers to “those of his brother,” meaning “the deeds or those deeds of his brother.”  Then we have an ellipsis of the imperfect active indicative of the verb EIMI, meaning “were.”  Finally, we have the predicate nominative from the neuter plural adjective DIKAIOS, meaning “righteous, just, honorable, right, upright, or honest.
“Because his deeds were evil, but those of his brother righteous.”
1 John 3:12 corrected translation
“not as Cain [who] was from that evil one, and consequently slaughtered his brother.  And why did he slaughter him? Because his deeds were evil, but those of his brother righteous.”
Explanation:
1.  “not as Cain [who] was from that evil one [the devil], and consequently slaughtered his brother.”

a.  We must keep on loving each other; not as Cain.  John uses Cain as the illustration of a believer who hates his fellow-believer.  Cain was not a believer, because this verse says that he was from the devil.  However, he is used here as the original example of one brother hating another brother.

b.  John’s point is that we are to have the same unconditional love toward our fellow-believers as Abel had toward Cain.

c.  Cain was probably jealous of Abel long before he came to the point of murdering him.  The Lord’s acceptance of Abel’s offering and rejection of Cain’s offering was the final straw that broke the camel’s back.


d.  Another main point being made here by John is that the source of Cain’s thinking, motivation, decisions, and actions came from that evil one, who was previously mentioned in verse 10 as the devil.

e.  Since the devil was the force behind Cain, everything that Cain thought, said, and did was evil.


f.  God expects believers who live the spiritual life of the Church Age to be the exact opposite of Cain.  However, what John is teaching in this context is that there are Church Age believers who do not love their fellow-believers, and are like Cain.  This is why John uses Cain as an illustration.


g.  Therefore, we can conclude that there will be believers who do function under unconditional love toward others, not as Cain, and those who do not function under unconditional love toward others, like Cain.

h.  Those who function under unconditional love toward their fellow-believers are operating under the influence of the Spirit.


i.  Those who do not function under unconditional love toward their fellow-believers are not operating under the influence or filling of the Spirit.


j.  The result of failure to use unconditional love as a problem solving device in the protocol of the spiritual life of the Church Age is anger, hatred, jealousy, and revenge motivation leading to acts of violence and even murder of one’s fellow-believer.


k.  The result of using unconditional love as a problem solving device is unconditional love toward all and the glorification of God’s Word, God’s will, and God’s evidence against Satan in his appeal trial.

2.  “And why did he slaughter him?”

a.  Then John asks a question to which both he and his audience already know the answer.

b.  Why did Cain murder his brother?  He had no good reason for doing so.


(1)  Abel was no threat to Cain.



(2)  Abel was not keeping Cain from being saved, from having a wonderful relationship with God, or from being blessed by God.  Cain was doing these things to himself.



(3)  Abel was not to blame for Cain’s jealousy.  Cain owned his own jealousy.


(4)  Abel was not responsible for Cain’s anger, hatred, or any other sin.  When Cain shouted his question to the Lord, ‘Am I my brother’s keeper?’, the Lord could have easily shot back at him, ‘No, but you are your own keeper.’


(5)  Cain slaughtered Abel because he held Abel responsible for his own failures.  Cain was responsible for his own failures, not his brother Abel.  Cain murdered his brother because of jealousy, which was motivated by Satan and fueled his anger.  Satan was angry about being found guilty of sin by God.  He has been angry ever since.  He motivated Cain to share in his anger and blame someone else for his own mistakes.



(6)  Satan hates God for loving the elect angels, who obey the will of God, more than him.  Satan is now jealous of the standing the elect angels have with God, which he no longer has.  It was easy for him to transfer this hatred and anger from jealousy to the thinking of Cain.


(7)  Cain slaughtered his brother because Cain wanted no rival for the Lord’s affection.



(8)  Cain didn’t love his brother Abel, and certainly didn’t love the Lord.  He only loved himself, and wanted the Lord to recognize how wonderful he really was.  This was the same motivation and thinking of Satan during and after his fall.  He just wanted the Lord to recognize even more how wonderful Satan thought he was.  He wasn’t getting enough recognition.



(9)  Obviously Cain’s mental attitude sins resulted in the overt sin of murder.
3.  “Because his deeds were evil, but those of his brother righteous.”

a.  John then answers his own question for his readers—Cain’s deeds were evil.

b.  Evil is saying that something you are doing is right, good, and the will of God, when it is not.

c.  Cain’s evil was thinking that his offering was exactly what the Lord wanted.  When it was rejected by the Lord, his evil was his thinking that slaughtering his brother was acceptable to God.


d.  Cain’s evil thinking was:  ‘Since my brother offered an animal sacrifice, which was highly acceptable to the Lord, then I will offer an even greater sacrifice—my brother.  I will do something to get the Lord to recognize my greatness.’

e.  Cain’s deeds or actions were evil, because his thinking was evil.


f.  Cain was not trying to do anything for the Lord or Abel or his parents.  He was trying to do something for himself.  His actions were evil because he was selfish, self-centered, and occupied with himself.  In contrast to Cain’s selfishness, we have the humble, honorable, virtuous, and righteous actions or deeds of his brother Abel.

g.  Abel was not competing with anyone.  He was just trying to learn and obey the will of the Lord.  Abel was attempting to fulfill the will of the Lord in genuine humility.  He was not trying to prove himself better than his brother.  He wanted his brother to be successful and accepted by the Lord as well.


h.  Abel did the right thing because he did what God wanted.  This included having unconditional love for his brother Cain.   Abel is the example of the positive, growing believer, who learns and uses the problem solving device of unconditional love toward all from the motivation of personal love toward God.


i.  The point of John’s illustration is this: we must keep on loving one another for our deeds to be acceptable to the Lord.
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